	Company Name	•	Qty /Week		Qty /Week	Shop a	Shop b	Field a	Field b	
Public Works	Unifirst	Option "a"	Option "b"	Option "a"	Option "b"	Cost Per	Cost Per	Cost Per	Cost Per	
76 Employees + 10 DGS staff + 23 Sewer Dist		Shop	Shop	Field	Field	week	week	week	week	
Shirts Blue or Tan	Unit Price									
65% polyester 35% poplin Long sleeve	0.14									
short sleeve	0.14									
100% cotton Long sleeve	0.15	11	9	9	7	\$1.65	\$1.35	\$1.35		\$1.05
100% cotton Short sleeve	0.15									
Industrial Pants Blue or Brown										
65% polyester 35% cotton 7 1/2 oz. twill	0.15	1								
100% cotton	0.15	11	9	9	7	\$1.43	\$1.35	\$1.35	,	\$1.05
Denim 100% cotton	0.17									
Coveralls Blue										
65% polyester 35% cotton	0.36	2	2		2	\$0.72	\$0.72		,	\$0.72
Insulated Coveralls Blue										
7.5 ounce poly/cotton insulated zip leg	0.46	10 for 26 wk				\$3.60				
Winter Jackets Blue or Brown										
65% polyester 35% cotton 7 1/2 oz. twill										
Hip length	0.36		2	2	2		\$0.72	\$0.72		\$0.72
Waist Length	0.36									
Total per option per week						\$7.40	\$3.18	\$3.42		\$2.70

A total of 109 employees at \$384.80 per year = \$41,943.20 Shop"a"

Total Per 3 Year Estimate \$125,829.60

NOTES

Shop employees may pick between shop option a or shop option b Field employees may pick between field option a or field option b

Note	General Services	Company N	ame		Costper	Per Year	cost per yr.		
Short sleeve \$ 0.15	20 Employees	UniFirst		Quantity	week per	x 52 wks	each		
Short sleeve \$ 0.15	Shirts White Security	Unit Price		Per week			employee		
Pants Black Cargo 55% polyester 35% cotton \$ 0.15	Long sleeve		0.15	11					
State Stat	Short sleeve	\$	0.15	11	\$1.65	52	\$85.80		
Cost Per Year S4.95 x 52 wks \$257.40 x 20 employee \$5,148.00									
Polo Shirts			0.15	11	·				
Polo Shirts	Cost Per Year				\$4.95	x 52 wks =	\$257.40	x 20 employees =	\$5,148.00
Polo Shirts								i	
Per week 52 wks employee 100% Poly collar short Sleeve no pocket 0.15 7 \$1.05 52 \$54.60 100% 8oz. Cotton/poly collar long sleeve 0.15 7 \$1.05 52 \$54.60 \$2.10 x 52 wks \$109.20 x 4 employee \$436.80 \$2.10 x 52 wks \$109.20 x 4 employee \$436.80 \$2.10 x 52 wks \$109.20 x 4 employee \$436.80 \$2.10 x 52 wks \$109.20 x 4 employee \$436.80 \$2.10 x 52 wks \$109.20 x 4 employee \$436.80 \$2.10 x 52 wks \$109.20 x 4 employee \$436.80 \$2.10 x 52 wks \$109.20 x 4 employee \$1.00									
100% Poly collar short Sleeve no pocket 0.15 7 \$1.05 52 \$54.60 100% 8oz. Cotton/poly collar long sleeve 0.15 7 \$1.05 52 \$54.60				,					
100% 8oz. Cotton/poly collar long sleeve									
\$2.10 x 52 wks \$109.20 x 4 employees \$436.80							·		
Quantity Per Year x each employee	100% 8oz. Cotton/poly collar long sleeve		0.15	7			·		
Quantity Per Year x each employee					\$2.10	x 52 wks =	\$109.20	x 4 employees =	\$436.80
Quantity Per Year x each employee									
Per week 52 wks employee									
80/20 Cotton Poplin or Combed Cotton w/Patch 80/20 Cotton Poplin or Combed Cotton-Stock UniFirst Unit Price Per week Week Veek Veek Veek Veek Veek Veek V				Quantity		Per Year x	each		
Solution Poplin or Combed Cotton-Stock Solution S									
UniFirst Carpet Runners Black Unit Price Quantity Per week week Cost per year week Cost per year year 3' x 5' \$ 3.00 16 \$48.00 52 \$2,496.00 3' x 10' \$ 3.25 36 \$117.00 52 \$6,084.00 4' x 6' \$ 3.25 54 \$175.50 52 \$9,126.00 4' x 8' \$ 4.00 4 \$16.00 52 \$832.00	'				\$0.76	52	\$74.88		
Carpet Runners Black Unit Price Per week Week x 52 wks year 3' x 5' \$ 3.00 16 \$48.00 52 \$2,496.00 3' x 10' \$ 3.25 36 \$117.00 52 \$6,084.00 4' x 6' \$ 3.25 54 \$175.50 52 \$9,126.00 4' x 8' \$ 4.00 4 \$16.00 52 \$832.00	80/20 Cotton Poplin or Combed Cotton-Stock		0.38						
Carpet Runners Black Unit Price Per week week x 52 wks year 3' x 5' \$ 3.00 16 \$48.00 52 \$2,496.00 3' x 10' \$ 3.25 36 \$117.00 52 \$6,084.00 4' x 6' \$ 3.25 54 \$175.50 52 \$9,126.00 4' x 8' \$ 4.00 4 \$16.00 52 \$832.00					\$0.76	x 52 wks =	\$39.52	x 3 employees =	\$118.56
Carpet Runners Black Unit Price Per week week x 52 wks year 3' x 5' \$ 3.00 16 \$48.00 52 \$2,496.00 3' x 10' \$ 3.25 36 \$117.00 52 \$6,084.00 4' x 6' \$ 3.25 54 \$175.50 52 \$9,126.00 4' x 8' \$ 4.00 4 \$16.00 52 \$832.00									
3' x 5' \$ 3.00 16 \$48.00 52 \$2,496.00 3' x 10' \$ 3.25 36 \$117.00 52 \$6,084.00 4' x 6' \$ 3.25 54 \$175.50 52 \$9,126.00 4' x 8' \$ 4.00 4 \$16.00 52 \$832.00		UniFirst				Per Year	Cost per		
3' x 10' \$ 3.25 36 \$117.00 52 \$6,084.00 4' x 6' \$ 3.25 54 \$175.50 52 \$9,126.00 4' x 8' \$ 4.00 4 \$16.00 52 \$832.00		_					7		
4' x 6' \$ 3.25 54 \$175.50 52 \$9,126.00 4' x 8' \$ 4.00 4 \$16.00 52 \$832.00									
4' x 8' \$ 4.00 4 \$16.00 52 \$832.00		<u> </u>							
				54					
\$18,538.00	4' x 8'	\$	4.00	4	\$16.00	52			
							\$18,538.00		\$ 18,538.00

Estimated Usage RFB-2023-010 Rental and Cleaning of Uniforms and Carpet Runners

	UniFirst		Quantity	Cost Per
	Unit Price		Per Year	Year
Rags 50 lb box	\$	30.00	16 - 20	\$ 600.00

		Quantity Per week	Cost p	oer	Per ` x 52	
Mop Heads	\$ 0.50	2	\$	1.00	\$	52.00

Total three year contract estimated amount for Uniforms and carpet runners

 Total
 \$
 66,816.56
 1 Year

 Total
 \$
 200,449.68
 3 Year

\$ 600.00

\$ 52.00

	Company Name	Qty /Week	Qty /Week	Qty /Week	Qty /Week	Shop a	Shop b	Field a	Field b
Public Works	Cintas	Option "a"	Option "b"	Option "a"	Option "b"	Cost Per	Cost Per	Cost Per	Cost Per
76 Employees + 23 DGS staff +23 Sewer Dist		Shop	Shop	Field	Field	week	week	week	week
Shirts Blue or Tan	Unit Price								
65% polyester 35% poplin Long sleeve	0.15								
short sleeve	0.15	8							
100% cotton Long sleeve	0.20	11	9	9	7	\$2.20	\$1.80	\$1.80	\$1.40
100% cotton Short sleeve	0.20								
Industrial Pants Blue or Brown									
65% polyester 35% cotton 7 1/2 oz. twill	0.16	₽							
100% cotton	0.28	11	9	9	7	\$1.43	\$2.52	\$2.52	\$1.96
Denim 100% cotton	0.24								
Coveralls Blue	ı								
65% polyester 35% cotton	0.30	2	2		2	\$0.60	\$0.60		\$0.60
Insulated Coveralls Blue									
7.5 ounce poly/cotton insulated zip leg	0.35	10 for 26 wk				\$3.60			
7.0 dance peryroditori indulated zip leg	0.00	10 101 20 WK				Ψ0.00			
Winter Jackets Blue or Brown									
65% polyester 35% cotton 7 1/2 oz. twill									
Hip length	0.32		2	2	2		\$0.64	\$0.64	\$0.64
Waist Length	0.32								
Total per option per week						\$7.83	\$3.18	\$4.96	\$2.70

A total of 127 employees at \$407.16 per year = \$51,709.326 Shop"a"

Total Per 3 Year Estimate \$155,127.96

NOTES

Shop employees may pick between shop option a or shop option b Field employees may pick between field option a or field option b

General Services	Company I	Name		Costper	Per Year	cost per yr.		
23 Employees	Cintas		Quantity	week per	x 52 wks	each		
Shirts White Security	Unit Price		Per week	employee		employee		
Long sleeve	\$	0.23	11	\$2.53	52	\$183.04		
Short sleeve	\$	0.23	11	\$2.53	52	\$183.04		
Pants Black Cargo								
65% polyester 35% cotton	\$	0.16	11	\$1.76	52	\$91.52		
Cost Per Year				\$6.82	x 52 wks =	\$457.60	x 23 employees =	\$10,524.80
					•			
Laboratory Coats								
80/20 Cotton Poplin or Combed Cotton w/Patch		0.20	6	\$1.20	52	\$62.40		
80/20 Cotton Poplin or Combed Cotton-Stock		0.20	0		10	\$2.00		
				•				
	Company I	Name						
	Company I Cintas	Name	Quantity	Cost per	Per Year	Cost per		
Carpet Runners Black		Name	-	Cost per week		Cost per year		
Carpet Runners Black	Cintas	Name 2.00	-	week .	x 52 wks			
	Cintas Unit Price		required	week	x 52 wks 52	year		
3' x 5' 3' x 10' 4' x 6'	Cintas Unit Price \$ \$ \$	2.00	required 16	week \$32.00 \$151.92 \$191.16	x 52 wks 52 52 52	year \$1,664.00 \$7,899.84 \$9,940.32		
3' x 5' 3' x 10'	Cintas Unit Price \$	2.00	required 16 36	week \$32.00 \$151.92	x 52 wks 52 52 52	year \$1,664.00 \$7,899.84		
3' x 5' 3' x 10' 4' x 6'	Cintas Unit Price \$ \$ \$	2.00 4.22 3.54	required 16 36 54	week \$32.00 \$151.92 \$191.16	x 52 wks 52 52 52	year \$1,664.00 \$7,899.84 \$9,940.32		
3' x 5' 3' x 10' 4' x 6' 4' x 8'	Cintas Unit Price \$ \$ \$ \$	2.00 4.22 3.54 4.80	required 16 36 54 4	week \$32.00 \$151.92 \$191.16 \$19.20	x 52 wks 52 52 52 52 52	year \$1,664.00 \$7,899.84 \$9,940.32 \$998.40 \$20,502.56		
3' x 5' 3' x 10' 4' x 6'	Cintas Unit Price \$ \$ \$	2.00 4.22 3.54 4.80	required 16 36 54 4	week \$32.00 \$151.92 \$191.16 \$19.20	x 52 wks 52 52 52	year \$1,664.00 \$7,899.84 \$9,940.32 \$998.40 \$20,502.56		

Total three year contract estimated amount for Uniforms and carpet runners

Total \$ 62,166.81 1 year **Total** \$ 186,500.44 3 Year